7z
> EHTROWHM, B, RimneEer, Bk, NERIE .

> X4hERE: BSP(G). NPT.

> kg 172"

> EEME: ARG TSR NBR. AR AL R L.

> S RAPASE: EEYRTE (PARKER) 4200 41, & KF|RFHIL (FASTER) CPV-CNV
Z4. BARFI(STUCCHI) IRSV &%, B KH DNP A F] PPV R4 H AR 172" ] #4ehnifE
1IS07241-1A Hffe,

W FH :
78 RANESLTZ M T &M TR ER:, FEMTEFRS. R BEL
B g AT, M R e B R R LA .

MRS
78 series(1/2")
Test Fluid: Hydraulic Oil at 100°F
OIL 40°C drop 28.8mm*/s=35.3mm"’s
30

]
e} 20 = [
g 112
o ,
5 15
(]
o 107
E
8 o
2
o g

33 40 45 50 ST -1 . ]

FHior

0 g 10 15 20 25

BAERST
INFRY ; § .
BRTAE &K i(bar) AR (LImin) BRI E(L/min)

08 250 45 90




SMBRIRT

- gl+—

7] Le o] Lifogloe] o s] o i
96 |80 (34| 8 38| 6 |27 |27 (19

A A

a7

P
L

L

TSI

B

B | mELCHTHS ABEL(P)ITH S AT S
08 |1/2" M14x1.5 THSMC7812-M14%1.5-08L THSMP7812-M14x1.5-08L THSMCP7812-M14%1.5-08L
08 [1/2"| 97 |81 35/10(38| 6 |27 |27 |22 M16x1.5 THSMC7812-M16x1.5-10L THSMP7812-M16%1.5-10L THSMCP7812-M16x1.5-10L
L| 08 |1/2"| 98 |82 |36 |12 (38| 6 |27 |27 |24 M18x1.5 THSMC7812-M18x1.5-12L THSMP7812-M18%1.5-12L THSMCP7812-M18x1.5-12L
08 |1/2" 100 |84 |38 | 15(38 | 7 |27 |27 | 30 M22x1.5 THSMC7812-M22x1.5-15L THSMP7812-M22%1.5-15L THSMCP7812-M22x1.5-15L
08 |1/2" 102 |86 |40 |18 |38 | 8 |27 |27 | 36 M26x1.5 THSMC7812-M26x%1.5-18L THSMP7812-M26%1.5-18L THSMCP7812-M26x%1.5-18L
08 [1/2"| 98 |80 36| 6 (38| 6 |27 |27 |19 M14x1.5THSMC7812-M14%1.5-06S THSMP7812-M14%1.5-06S THSMCP7812-M14%1.5-06S
08 [1/2"| 98 |81 36| 8 [38| 6 |27 |27 |22 M16x1.5THSMC7812-M16%1.5-08S THSMP7812-M16x%1.5-08S THSMCP7812-M16%1.5-08S
S| 08 |[1/2"| 99 |82 37 |10 |38 | 6 |27 |27 |24 M18x1.5THSMC7812-M18x%1.5-10S THSMP7812-M18%1.5-10S THSMCP7812-M18x1.5-10S
08 [1/2" 100 |84 |38 |12 (38| 6 |27 |27 |27 M20x1.5THSMC7812-M20%1.5-12S THSMP7812-M20%1.5-12S THSMCP7812-M20%1.5-12S
08 [1/2" 102 |86 |40 |16 |38 | 7 |27 |27 | 32 M24x1.5THSMC7812-M24%1.5-16S THSMP7812-M24%1.5-16S THSMCP7812-M24%1.5-16S




